PreCéiculus End of Course Review
Show all appropriate work for credit!!!

% 1. Complete the following:
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X3 Given the following functions, describe the amplitude, period, phase shift, and vertical shift.
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%6, Evaluate. Give exact answer, use addition /subtraction id tlt;es‘\Q
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10. Evaluate
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12: Graph the eilspse and state 13: Graph the parabola and state “44?0,3_. L2
the center, vertices an% foci. ) the vertex, focus, and directrix. 4
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14. Graph the hyperbola and state
the center, vertices, foci, and equations

of the asymptotes.
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%15" Find the equation of the conic section, a parabola, with a vertex at (2, 1) and focus at (2, - 1)
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9@@» Identify the shapes of the graphs of the foﬂowmg equatlons
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w
47 Solve the following system of equations: oy pe &\i xS

x+y+3z=8

§48: Find the product, if it exists.
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1&49. Find the determinant of the matrix. g -9
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¥20. Find 47 of each matrix if it exists | , e “1
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éz According to the Fundamental Theorem of Algebra, how many zeros do the following
polynomials have in the complex number system?
a X¥+2+x+5=0 b. 75 +9=0 c. 6x* 438 +2x=0
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23. Flnd the average rate of change of the func'aon f (x) ¥ +3x-5 fromx=-210x= —
~ - vised April 2010

&ak ,} o e 7 ,\ = m



AW _fpa) A0 slun)-2 - [ev-2)

L = n
24. Find the difference quotient of the function f(x)=5x-2 = %ﬂ;{h J E’ff 2&? -5
X n 5]
25. Find a complete graph of the following 26. Find a complete graph of the following
function, identifying all vertical and horizontal function, identifying all vertical and . _ 2/
asymptotes and holes. W) =Cdernen horizontal asymptctes and.h \?Q
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27. Factor and srmphfy tan? x — tan”® x sin® x
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28. Simplify:
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a. sin35°cos50°—cos35°sin50° © Q\,\V‘iS b. cos [—]-i;

W (35-59) =5w (157 ) =820 ) CN
V29, Given cosb = ;:— find cos -2—) (Assume ‘0 <8 < g)
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);430 Given sinf =—--—, find sin(24). (Assume = <& <—-—)
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Y31 Mu!t:ply and ssmphfy the following:

a. (i + cos x) (1 cos x) b. (1 + gin x)(l —~sinx) c. (cosx+sin x)2
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.7?2. Solve the following over [0,27)

a. cosxsinx—sinx=0 b. 2sin®x-5sinx+2=0
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%‘34‘ Convert to degrees.
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%’F Convert the polar coordmates(zs 3—6}—7—) to rectamates. L, | |

g L) s )%’E}L %:&g\% )= (-4

%8 Convert the ectangular coordinates 2.3, -2} to polar coordina
v 1
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ﬁ(20 Write as a single logarithm. B |

a. 210gx-log(x+3)+log(x -9) b 31n5x 41n(x—5)+21n(x 5) ,
(X" - 10§ (k) 109 (x7-2) LGP -gn(xo)+in(x5)
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@4 Use the following matrices to find:
- - -2 6
[z 3 -1 go|? 3 4 i
5 0 4 1 5 7 1 4
2 o0
-1 03

a. 2A+B
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X42, Give the dimensions of each matrix.

W\)( 2 5 11—
a B a4 -117 \X b. |0 o 5 12X 5J c. |8
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J43: Solve. ‘
k3x—-2y:4§-;2 - ""U)ﬁ”*vw - 4 1 ENCY ! 2x—=35y 3: ;Mn ‘&:\'
a. i‘i’g‘y - i{ql / { ‘ sy XY = L= % ‘;&35
Gx—dy=3 ) It S 3x  +5z=0 o
3x+5y=19 |
¥44, s the system of equations, ¥ y, 3 nconsistent?
2 gy =
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How many solutions are there to the system &)one or infinitely many)?
if’\w(\\\g/’

«45. Simplify and write your results in the form a+57.
c. 2(3+5i)— (2 20)

a‘—@é b. (3—!—41) ‘
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W46, Find the sum of the infinite geometnc series, if it exists, 3 ); T T WE wiln % £L
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il the ocean is 23°. How })

a7 From the to 200 foot lighthouse, the angle of depress on to a shi
ip from the base of the e lighthouse?

Ao V1=

Revised April 2010







PRECALCULUS FORMULAS

Nth Term Formulas
a, =a, +{n—1)d , arithmetic

n—1 o
a,=ar"" , geometric

Summation Formulas

" g +a
Arithmetie: Sn == Zak = n[—f 5 j

g

.
5 B o . & - I-r
Finite Geomelric: 5” . Z a, =g T

£l

- a
Infinite Geometric: .= Zak = b
kel 1-7

Addition/Subtraction Identities

sin(x + y) = sin x cos y +cos x Siit y
sin(x — y) = 8in x cos y — cOs xSin ¥
cos(x+y) =cosSxcosy —simxsiny

cos{x — y) = COSx COs ¥ +sin x sin y

) tan x +tan y
tan(x +y) = ————m—
l-tanxtan y

tan x —tan y

tan(x - ) = ——————

1+tanxtan y

Double Angle Identities

SIN2X = Z2s5In X Ccos X

Co82x =Cos>x—Sin° x -
Z2tanxy

tan2xy = ——
I—tan~ x

Half Angle Identities

. W 1-cosx
stn— =k
o 2
2 '/_.»—s"\~
) \\
/\\ I+eosx
Leos— =1 g
2 2 '
x  l—cosx sinx
tan—= =
2 sin x L+cosx
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b-a

Difference Ou(Ltie_l_l_g
f(x+h)-f(x)

5

Polar to Rectangular and

Standard Form Ellipse
C=h) |

2

Standard
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Law o

a’ =b
cos A
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Law of Sines I

g | a | b

% AR
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Area of a Triangle

p=
t

He

Area = b sin
Heron's |Formula

d=fsts~lans-bis—c)

s:—;—(a+b+c)
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